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Part—1 (Botany)
(2teis Wi : Bfgw fFea)

What is embryogenesis ? ~ |
el siom A e
What is GMO ? 1

&, au. &, = @ e

The micro-organism used to produce lactic acid through fermentation process is known
as X 1

fem ST GET FTte b Sesmae aRme SRl (202 :

Why: is apple called a false fruit ? 1
SHe vy Segs ' (@ 2

Hlow many types of artificial asexual reproduction found in plants ? Which type of

plants showing grafting ? 2
Bfiwe B e Ffam SR 2 (oA T9 2 mﬁmas@f&w‘w Ffaa #ffae

. Or /91
Describe the significance of sexual reproduction of plants. 2

Sfwa N e Siesf adal &4 |

Diflerentiate between chemical and biological origin of life. 2

Glaa afE Wi tafde Sl wiee Arew S F4|
Or/ a%al '

What is meant by geological time scale ? Why 1s it necessary to determine the age of
fossils ? . 2

\gmﬁf@mw&mf&?mw fafaea qiE 3aE g el e

What is fermentation 2 Which micro-organism converts sucrose into ethyl alcohol ?
2

fagn offrm e @EWEY e <Fae 2R GTE'EE (6 FARA A2
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_ Or / geqt
What is algal fertilizer 7 How does it help in agriculture ?
TRIE AR e 7 Pl TS (R T I

-8  What are the principles of bio-technology ? L . | 2
sl Srfdenmm @ fofe mg & 2
Or/ J943/

What arc molecular scissors ? Give two cxamples of it.

- oo Towm /e Ba 75y Swimae T

Y. What is genctically modified crop ? Mention its disadvantages_. » . 2
HRTIE S FeRe <5y 52 3ae iRy g S a4y |
- Or / G5t

What is the full form of ‘ELISA’ ? How does it help in detection of disease ?
‘ELISA™ 7=2)¢f Aty {52 catet Fapoloq ove 3 (aprmvaaee) o7eid a2

10.  What are’the major abiotic factors of habitat ? ' - 2
| Or/ 27!
Differentiate allelopathy and antibiqsis:

AR wm G e drew grida | |

11, Discuss about the technique of hybridization. 3
DT BT (FE A 4 | '
' Or /g2t

Discuss about the development of female spore in {lowering plants. w3

oo Sfgra Fieagm st At w4 |

12, Write about the principle of ‘Hardy Weinberg’. Give an eqilation of this principle with
example, B - 1Aatle=3

23 T @ Fl w3 s TR Suee IS S 3 |
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Or /G251

Disc_uss about the chemical cvofu‘;ion of life. ' 3
G b Rada sicerbar o
I3. What is ‘SCP’ ? Write about advantages of SCP. . O 142=3

‘SCP” e &2 2w 7R wpg Somd <4 |
Qr / &Y

What is totipotency ? How does it help in plant propagation ? 1+2=3

TooAthie 62 Sfgra REmere 3 (oite ey @@t

[4. What is cmbryo ? Describe with suitable diagram about the devélopmcnt of embryo in
dicot plant. _ ' . 14+4=5
o 52 BF et fa-Tererd Sfens wom Ko = =1

' Or / g2

What is reconibinant DNA Technology ? Write about the process of recombinant DNA
technology. 1-+4=5

f6. @, & omslom Tt e Br 3a B (e +wfe w7z a6l @)

15, What is age pyramid ? Describe the pre-reproductive, reproductive and post reproductive

age of pyramids with diagram. 1+4=5
a3 [oiaifiie &2 efe =Rafag), TETH TRE) I e SRR 755 BRIRE Ba T <o
911 _ i

Or/E3qt

Write in briefly about the three fibre yielding plants of Assam. Mentioning their botanical

name, parts used and purposes of uses. ' 5

TR [elAy g TR @ﬁa,‘wﬁamwias T 9 W A e tawfie A,
TN AR S ST Gemd T4 |
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Part—li (Z.oology)
(f53m sz : enaifEes=)

1. Fill in the blanks : (any twe) - I X2
4 3% ome w4l 2 (B A 751
 (a) Progesterone is secreted by
TSR e T
(b) Typ-hoid fever can be confirmed by . test.
ST =I9] BIRERT @6l Wik FRI o[ AW

~(¢) There are number of National Parks in Assam. -
TS AR Tro T SR |
2. Answer any two : | 1x2=2

i e whe T e
(@) What is the special nutrient present in the milk of transgenic cow, ‘Rosie” ?
(o oz s v R el B

(b) Name the amino acid which fails to convert to tyrosine in Phenylketonuria.

frizses ek f «Fmafbe o fEes weieRe aa o @

(¢) Which enzyme transcribes hnRNA ?
@ BeIE hnRNAT Foles v w4 ¢

3. Write answer of any four of the following : S 2x4-8
oo ol 3 covear bifene Ged fora g o

(a) Why sex education is necessary in school ?
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(b

()

(d)

(¢)

How is the translation of mRNA terminated ?

mRNA T AW il @aiE ANY T/ e

Why the father never passes on the genc for hacmophilia to his son ?

farffae & Bioa @fus R wefke e e

How placenta is formed ? -

SRR (T B 72

What are the different types of sericogenic insects commercially cultured in Assam 7

e GEeend B B 4999 (Xow B ofE 9 W

| (/) Explain the Gause competitive exclusion principle.
sitw afSrafiers A S e =
4.  Write the difference between : (any two) S 2x2=4

i @i qhrT sl Tl 2

(@

(b)

(c)

()

Commensalism and mutualism

SEifEre o HaRel

Sex chromosome and autosome

B FWEN WS WET NG

mRNA and tRNA
G TE.GE T B SiRen.e

Active immunity and Passive immunity.

e wpREel o Al SRR |

5. Name three sexually transmitted diseases of man. 3

Wi foiG! fom Fwifds @il W vy

Or/9q

" Draw a neat labeled diagram of human sperm. - 3

WA wEEeE viewR e ba i
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6. _State three goals of human genome project. ) » 3
e T e fOADT wmE Seard '

Or / qg]
Describe briefly the Lac Opcr_on model. _ 3
(&1 Sitoiel SifE GLE a0 |
7. Describe the mechanism of infection by HIV. ' 3
HIV K@ (e 2ok < |
Or /g
State the important defence mechanisms in plant against herbivory. 3

PSS T RAm (e S el afbewm G g Boea o

8. What is food chain ? Describe two principal types of food chain. 1+4=5
Wﬂwﬁw 12 S %ﬁ%?ﬁﬁ]ﬂ%‘d‘ﬁ@i
Or /|24
What is global warming ? Mention two major cffects of global warmmg What steps
-should be taken to control it * , 1+2+2=5

e Saeet 2 (IR SaeR ﬁﬁWWWﬂWIWW‘TW%%
AW LA ?

9. What is DNA fingerprinting ? State its applications. - - 3+2=5
DNA feonafafes 2 Zarm et sz Sm =)
Or/ g2}
What is pcdlgree analys1s ? Explain with example how such analysis can be useful.

1+4=5
aaﬁmﬁmﬁmﬂqaﬁ?ﬁw%ﬁma%@wﬁ@@ﬁ@ﬁmmeW| .
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